AP® EUROPEAN HISTORY
2016 SCORING GUIDELINES

Short Answer Question 3

Many historians contend that the development of the railroad in the early 1800s was a significant turning
point in European history.

a) Identify TWO specific pieces of evidence that support the contention, and explain how each piece
supports the contention.

b) Identify ONE specific piece of evidence that undermines the contention, and explain how it undermines
the contention.

0-3 points

Score 3
Response accomplishes all three tasks set by the question.

Score 2
Response accomplishes two of the tasks set by the question.

Score 1
Response accomplishes one of the tasks set by the question.

Score 0
Response accomplishes none of the tasks set by the question.

Score —
Is completely blank

Scoring Guide

0-3 points

e ONE point for identifying and explaining a piece of evidence that supports the contention that the
development of railroads in the early 1800s was a significant turning point in European History

e ONE point for identifying and explaining a DIFFERENT piece of evidence from the one given above
that supports the contention that the development of railroads in the early 1800s was a significant
turning point in European History

e ONE point for identifying and explaining a piece of evidence that undermines the contention that
the development of railroads in the early 1800s was a significant turning point in European History
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Short Answer Question 3 (continued)

Scoring Notes

Examples of responses to Part A that would earn credit:

The contention that the development of railroads in the early 1800s was a significant turning point
in European history can be supported by railroads allowing for faster transportation of goods and
raw materials that were necessary for production.

The contention can be supported by railroads helping to improve diets by providing improved
access to perishable food.

The contention can be supported by the use of railroads for passenger transportation, initially for
the middle class and, later, for the working class.

The contention can be supported by railroads promoting economic expansion and growth by
moving raw materials and finished goods more quickly and over greater distances.

The contention can be supported by states’ use of railroads for military mobilization and the rapid
movement of armies.

The contention can be supported by railroads promoting colonial expansion and imperialism by
allowing imperial European powers to move resources more quickly and efficiently.

The contention can be supported by railroads facilitating the rapid spread of information.

The contention can be supported by railroads promoting a common national identity by making it
easier to move throughout the entire country.

The contention can be supported by railroads providing an opportunity for cultural interaction and
increased access to leisure activities.

Examples of responses to Part B that would earn credit:

The contention that the development of railroads in the early 1800s was a significant turning point
in European history can be undermined by the fact that railroads in the early 1800s were not
widespread throughout Eastern Europe.

The contention can be undermined by the fact that there were alternative forms of transportation
for both goods and people, notably canals and steamships.

The contention can be undermined because passenger rail travel was limited to the middle and
upper classes until late in the 19th century.

The contention can be undermined by a discussion of alternative economic and technological
turning points more significant in the early 1800s than railroads, such as the Industrial Revolution
or the steam engine.
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SAG 3P

Use a pen with black or dark biue ink only. Do NOT write your name. Do NOT write outside the box.

Write your answer to SECTION I: PART B, QUESTION 3 on this page only.

2 AL To2 desRioeceesy o CONKSANS, LIGS O %\QQ\(\\Q LCCad AU -

Do ERles b0 Bascaesend Aoy s\oay  Oce o Nor ceasC0e \S eoouss

W oNewrwd  foc naduslaoNhz odien . Tor exasapls, NS v

Lodain c\Qwi\ch% Q. \w%{ SRS X el nekuaa R

Q‘C*Q‘De?\\“ﬂ\b@\ SRE Acere Coxvodiy G laede eXo wes, Ouia poedresiels
(e coosh oned con) oad Suavilacss ©Cebycks S e

essosigoneked it fadhanes aied CoenciRie ade  guitWly

K cedsn, allones S q0<m?§e{ NN TR \X\%\% DGR oddx
(0 el CCXIce  \osuienn Qeniele  WVNNR, \cswz,) SN s

Tae Noesk esavaie @8 Lo Nas  Con oo gexmin Yo Busena
witn Mo Teans ~ Sl\oggiona R NN Ny N Seg =&
ekl Mo Mo WSS GESttsn 0@ie  nts Qe oy

Oy DOOE dsed) ¢ Oramudessiien \gedtieen f\‘ZD\D\E‘, \c\\w\% \e\,\(\\h)
Miskoamees uk ol Bae Rconse ocNodton of readehods Sa¢
LObusxet olazasn o, _

. %p\\\‘gcsoh% LR ASY o N R0y q\%«&\cm X&\m;“\%

postir e EaceQeosn \asdery. o ostaw@ Nee
Oceoden % Bocaadsy oo SOtcak E(\&Q{x\(\, nadvenals
COStS s eSS \ee. P\W‘\%Q&‘&E OCKOEs TSN Comneday

Breodx Qoedteno \acd o sy SKEn SR aedusan e s, wiod,

Cosoale WA AR ety Ao HeSun S Euds 1%‘:,0"1‘55 ekece
A TRBE ARaesy Vaesen ¥
e otetopn o8 AR voileed. WO Saguss rmgégﬂox\uq%

End of response area for Q3
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SAB 3B

Use a pen with black or dark biue ink only. Do NOT write your name. Do NOT write outside the box.

Wnte your answer to SECTION I: PART B, QUESTION 3 on this page only.
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End of response area for Q3
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SAB 3C

Use a pen with black or dark blue ink only. Do NOT write your name. Do NOT write outside the box.

Write your answer to SECTION I: PART B, QUESTION 3 on this page only.
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Short Answer Question 3
Overview

This question asked students to consider the contention that the development of railroads in the early
1800s was a significant turning point in European history. Students were asked to provide and explain two
specific pieces of evidence that support the contention and one specific piece of evidence that
undermines it.

Sample: 3A
Score: 3

This response earned 3 points. The response earned 2 points for part a) with a detailed explanation of the
significance of railroads for transportation of materials in Britain and increased communication in Russia.
The response earned 1 point in part b) for an explanation of the significance of Britain's earlier canal and
river network, thus undermining the contention that railroads were a turning point.

Sample: 3B
Score: 2

This response earned 2 points in part a) by offering acceptable explanations of the significant
improvements in the transport of materials and people associated with the development of railroads in
Europe. The reference to tariffs is a minor incorrect statement that does not negate the correct
explanation. For part b) the response offers evidence that does not undermine the contention, but rather
explains a negative effect of railroads. Thus, no point was earned in part b).

Sample: 3C
Score: 1

This response earned 1 point for part a) with an explanation of how railroads facilitated more efficient trade
and the growth of consumerism. The reference to the automobile falls outside of the acceptable time period.
The response for part b) offers no acceptable undermining evidence for the significance of railroads.
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